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(4) ‘THrhl @WH w1 IrEdifE afe
BT |

(5) ITgARa S

fr=fafed 3 @ saraafis 916 % wa

e % WY Y B S A D 2

(1) - <ifer gEmem

(2) Efa e

(3) STHHIRS HEAM T e Sfaq

(4) Hifoa yeruh sman

(5) Tgaa ww

THipd foaurr fope fomom sraemon =
Wi g ?

(1) Tosraor sraumon

(2) 3G FHIYRONT

(8) \MIR SrayRen

(4) 3G ATHRN

(5) 3rgiia oA

T S,

o

Which one of the following defines
the number of variations available
for each product within a product
line ?

(1) Width

(2) Product portfolio

(3) Depth

(4) Consisténcy

(6) Question not attempted

In the context of ‘sole proprietorship’,
which of the following is not a correct
statement ?

(1) There is a separate law that
governs ‘sole proprietorship’.

(2) ‘Sole’ means only one.

(8) In some cases, one may
require a licence.

(4) ‘Sole proprietor’ has
unlimited liability.

(6) Question not attempted

Which one of the following is not

the limitation of sole

proprietorship form of business

organisation ?

(1) Limited resources

(2) Unlimited liability

(3) Unlimited life of a business
concern

(4) Limited managerial ability

(5) Question not attempted

‘Integrated marketing’ is a part of

which marketing concept ?

(1) Selling concept

(2) Product concept

(8) Societal concept

(4) Production concept

(5) Question not attempted
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ﬁaw%:

& 464 (L) = 30.5
THTH qed (S) = 0.5

R TR T R 7

(1) 0.30 2 0.97

(3) 0.31 (4) 0.85

(5) TgEIfed A
frafafea o @ $F @1 srafeor &1 amy
uaE ?

1) #s e (2) A fome
(3) formmme (4) fo=w

(5) FTRa ¥

yia ¥ frefafea & @ =9 @ g@=e
Terehife Y aree & s A foram Smar @2
(1) SuIh 4o FEHTH

(2) IUEH o GIhTh

(3) 3renfies weigl uea gEHH

(4) o I gEHH

(5) 3T ¥

Frafefea & @ wra & oo faefa somef
o gefRa wfafale 6t s0 9o e
e it nfafafet 1 g e areft
A TR ?

(1) uRer ford S

2) &t oo S

(3) e

(4) We S A% 3o

(5) I A
ﬁmférﬁgaﬁéﬂqmaﬁ%:révﬂﬁ
R -y A s g R 7

) x=A-T5 @ z=A+
(5) IIgaE ¥

Given :

Largest value (L) = 30.5

Smallest value (S) = 0.5

What is the Co-efficient of Range (CR) ?
(1) 0.30 2) 0.97

(8) .0.31 (4) 0.85

(5) Question not attempted

Which of the following is a relative
measure of dispersion ?

(1) Standard deviation

(2) Mean deviation

(3) Co-efficient of variation

(4) Variance :

(5) Question not attempted

Which of the following index is used
to measure inflation in India ?

(1) Consumers Price Index

(2) Producers Price Index

(3) Industrial Labour Price Index
(4) Wholesale Price Index

(5) Question not attempted

Which of the following bodies
co-ordinates the activities of all
institutions involved in the rural
financing system in India ?

(1) Reserve Bank of India
(2) Regional Rural Banks
(3) NABARD

(4) State Bank of India

(5) Question not attempted

Which of the following is the
formula of “Arithmetic mean” in .
continuous series by short-cut
method ?

(1) §=Z%‘bc 2) E=%
(3) §=A—Zfdx(4) x= A+%

(5) Question not attempted
(=
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11:

12,

13.

iR g ?

(1) e e,

2

3) FuIART
(4) TITHYOT 0T TeEH

(5) I A

“ORa 6 arfas W T AW Haw
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& 7 B, s qeg w9 F ial &1 faew
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(1) e SgIgL el

(2) waTeHT Tieft

(3) TR AE®

(4) WAL

(5) 3T A

frafeafas & @ vt Y sl guwd &

wTierl < SR 3 IH |1 Ho HE TE 2 7

(1) T haet e gurl & Il &g
g1

(2) TSA! g g & TATE! 61 G0 T
I O BT 3TUTEA 2 |

(3) anfeies U & ®edl 1 @9 TSHT
! ot freren 2 |

(4) 3TTie GUR ST 6l 3™ TF ASTR
dgfgFa g |

(5) ITgARa TR

fFrafafaa & @ <9 @t St 1 IER

TR HfY o & & FrT=Ia: I SR 7

(1) ot st

(2) gt ST

(8) TR SUSTRI

(4) =whEatemd

(5) 3TFia S

10.

11.

12.

13.

Which of the following is related to
operation flood ?

(1) Flood control

(2) Agriculture

(3) Milk production

(4) Rural debt management

(5) Question not attempted

“That the real progress of India did
not mean simply the growth and
expansion of industrial urban
centres but mainly the
development of villages.” Who said
this ?

(1) Lal Bahadur Shastri

(2) Mahatma Gandhi

(3) Jawaharlal Nehru

(49) R.C.Dey

(5) Question not attempted

Which of the following statements
is not correct about the state
participation in economic reforms ?
(1) The states are only at the
receiving end of economic
reforms.
(2) The states are also required
*  to support and supplement
the efforts of centre.

(8) The fruits of economic
reforms are also enjoyed by
the states.

(4) Economic reforms help in
enhancing the income and
employment of the state.

(5) Question not attempted

Which of the following kind of
unemployment is common in the
field of agriculture in India ?

(1) Disguised unemployment

(2) Seasonal unemployment

(3) Technical unemployment

(4) Cyclical unemployment

(5) Question not attempted
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14.

15.

16.

17.

18.
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YHSHTHT TS &Y 8

(1) g ARTd o frgia &1

(2) T frgra

(3) TratargE fawm faga &

(4) 3TTa wiaengs foerma fgra &
(5) AT e

e e o frafatea § @ o959 @
ety faee e a7

(1) =9 1951-52 & 1954-55

(2) o9 1966-67 & 1968-69

(3) =§ 1971-72® 1974-75

(4) =¥ 1981-82 & 1984-85

(5) ITgaRa A

TSI & % IUHAT ! GHaT AW Yot
% fafvas = w1 Smar 8

(1) ffie (2) vt

(3) FHw  (4) Iy
(5) 3TFTIRG I
fraffea i a s a s et 7Ei 2 7
(1) @S guR Al demifas
ITAE |

TS GURI &1 IL9T TaH
A I deehlel TEIAT JGH AT
2 :
fr{ieto U™ eI U 2 |
R R &1 W PaH
TS S deehTel TEFAT TG BT
2

(5) IrFaid JeA

aRd % fpE quEie w3 Aiie
G ! W fopam ¢

(1) TSig et

2 Tamiua

(8) atee fagrl arerudt

(4) wEA fiE

(5) ITFTNG T

)

3
(4)

14.

15.

16.

17.

18.

Globalisation is the modern

version of

(1) Comparative cost advantage
theory

(2) Protection theory

(3) Export oriented development
theory

(4) Import substitution development
theory

(6) Question not attempted

Which of the following periods in
Indian planning were considered
as plan holidays ?

(1) Year 1951-52 to 1954-55

(2) Year 1966-67 to 1968-69

(8) Year 1971-72 to 1974-75

(4) Year 1981-82 to 1984-85

(5) Question not attempted

Disinvestment of public sector
undertakings’ equity shares capital
is known as

(1) Privatisation (2) Globalisation
(3) Liberalisation (4) Modernisation
(5) Question not attempted

Which of the following statements

is incorrect ?

(1) Structural reform policies are
long-term measures.

(2) Structural reforms aim to

provide immediate support to

balance of payments.

Stabilization measures

short-term measures.

Stabilization measures aim to

provide immediate support to

balance of payments.

(5) Question not attempted

Under whose Prime Ministership
of India, economic reforms were
initiated ?

(1) Rajeev Gandhi

(2) Narsimha Rao

(3) Atal Bihari Vajpayee

(4) Man Mohan Singh

(5) Question not attempted

3
4)
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-19.

20.

21.

22.

23.

e T Fifegh oft Y & sTeL ww i
Tl foram e 2, 98 FEETI R

(1) vemagds (2) qE=Igd®
(3) wTfEHT (4) auH

(5) TgaRa S

el AT (x) = 8

7919 feree™ (o) = 2.65
WHTY ferere Turieh 1 8 7
(1) 3

(2 2.65

(3) 0.88

(4) 0.75

(5) IR T _

g, 3uspm 6t forcfia fufer 6t == v

EF(T'IT%:

(1) U Eny ety & forg

(2) et fafeea wm foig ™

(3) EHg hi At d

(4) a1 TH G T & for a7 fomeft
fafead ama fig

(5) geIRE T

orTeAss forfi feraomt &1 EILk:]

Wi ST e | S

(1) &fes fagemo

(2) wEq faveyo

(3) Tor forwetwon

(4) =T fererym

(5) ITFAIRA I

Frfaftga & 9 =9 granfiou feem =

ge fowa/qer 782 ¢ .

1) @

(2) =M@

(3)

(4) goit-siafeat 1 awm

(5) rgHia T

L T s se———

19.

20.

21.

22.

23.

When a statistical series is divided
into two equal parts, it is called :

(1) Quartile First

(2) Quartile Third

(8) Median

(4) Percentile

(5) Question not attempted

Where mean (x) =3
Standard deviation (o) = 2.65

What is co-efficient of standard
deviation ?

(1) 3 (2) 2.65

(3) 0.88 (4) 0.75

(5) Question not attempted
Balance sheet provides
information about financial

position of the enterprise :
(1) For a period of time
(2) At a point of time

(3) Over a period of time

(4) Either for a period of time or
at a point of time

(5) Question not attempted

Comparative financial statements
are also known as

(1) Horizontal analysis

(2) Vertical analysis

(3) Static analysis

(4) External analysis

(5) Question not attempted

Which of the following is not the
key issue of rural development ?

(1) Drought
(2) Flood
(3) Famine
(4) Slum clearance
(5) Question not attempted
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24.

25.

26.

27.
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T gHMTRR fag A

(1) 3t st o5 37k 1 100 FAT IR |

(2) = afieEl % 3% W 100 HET
ST R |

(3) =t gufEl % 37 H 100 AT
AT e |

(4) Fo GuREl & H HI-100 HAT
AR |

(5) ITTTRA T

frafefaa o & S 91 S @i gwdr

ST TR ?

(1) =g i o foefa faa 2 |

2 T|& ®H BN TeiEF Iah
R o ST gt 2 |

(3) U8 SATFEIREG 1S > S @H &
T % g @ |

(4) 3fe & = T SA 2, A wH H
a1 ¥ B ST | '

(6) ITIRA A

T 4 ! =Te] wutEr 2 1,50,000 o |

=T, St T 30,000 FT PAH HH &

T, $HehT HTeL 3T 2 : L2 | e

R CEIT U RICIE IR ot

(1) % 1,50,000

(2) ¥90,000

(38) ¥60,000
(4) 1,20,000

(5) TG SR

& Hu B e g s srffEm,
2013 &% A fuif|, ye &
FER R B AR |

(1) -1 a1

(2) -1 9re-11

(3) FFEE-III wré-I1I

(4) =reft A

(5) g S

~J [ ————— e R ni

24.

25.

26.

27.

In a common size balance sheet,

(1) Figure of share capital is
assumed to be 100

(2) Figure of current liabilities is
assumed to be 100

(3) Figure of fixed assets is
assumed to be 100

(4) Figure of total assets 1is
assumed to be 100

(5) Question not attempted

Which one of the following
statements is not true in reference
of owner’s equity ?

(1) It is the financial interest of
the owners.

(2) It reflects the excess of the
firm’s liabilities over its
assets.

(3) It represents owners’ claim
against the business entity.

(4) If the firm incurs losses,
owners’ claim will be reduced.

(5) Question not attempted

A firm had current assets of
¥ 1,50,000. After making a
payment of current liability
amounting ¥ 30,000, its current
ratio is 2 : 1. The current liability
before making the payment was
(1) ¥1,50,000 (2) 90,000

(8) 60,000 (4 ¥1,20,000
(5) Question not attempted

A company is required to prepare
its balance sheet in the format
given in of the Companies
Act, 2013.

(1) Schedule-III Part-I

(2) Schedule-III Part-II

(3) Schedule-III Part-III

(4) Table A

(5) Question not attempted
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29.

30.

-1 1 gh-11 & forese ofR g & T=

U e (Hre) 1 3T Hh FE WG :
-1 ge-11
A mEftEufE (@) g@=ed
THHE & nfafafer
o e
B. TR YA (i) femdmo
Tfafafe
C. AW T (iii) e wfafafer
F2 (F) :
AT B2 C

(1) () @G @

(2 Gi) @G @

() @i) @@ @G

4 @) @G (@)

(5) gy

TH ST A 31 W, 2024 H R
fafs=m 2 6,80,000 % & 3R 31 T,
2025 & A T 5,60,000 F & | I a9 &%
TR SO 3 A T TS # 40%
9T 2 1,68,000 % oW W 59 fean &,
Uk afeaig (outflow) g3 :

(1) ¥4,40,000 (2) % 2,88,000
(3) ¥1,52,000 (4) T 2,72,000

(5) TgaRd S

Ut faenidis wrgae fafies us forda
3w 2 | 78 Frefafea srasr #1 w=em
it & TE yaTE % ®9 H wiihd
HA R :

|
I
|
() TSN (b) TS }
(c) e (d) e wam wmT ]
mﬁéﬁqm@wmmﬁ]
Ffipa 8/2 ? |
1 wf @ @3e© |
@ FEOh (@) FAd |
(5) 3T A |
8

28.

29.

)
&

Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-1 List-I1
A. Paymentto (i) Operating
acquire activity

fixed assets

B. Payment of (ii) - Financing

Income Tax activity
C. Payment of (iii) Investing

Dividends activity
Codes:

A B0

(1) @) @) @
(2) @) @ @
3 @G @) G
4) @ @@ Gaw

(5) Question not attempted

In a company, the non-current
investments on March 31, 2024
was T 6,80,000 and on March 31,
2025 it was T 5,60,000. If during
the year, the company sold 40% of
its original investments at a profit
of ¥ 1,68,000, then the cash outflow
would be :

(1) % 4,40,000 (2)- % 2,88,000
(3) 1,562,000 (4) T2,72,000
(5) Question not attempted

Yuvraj Securities Pvt. Ltd. is a
financial enterprise. It classified
the following transactions as ‘cash
flows from operating activities’ :
(a) Interest received
(b) Interest paid
(¢) Dividend received
(d) Dividend paid
Which of the above transactions
is/are wrongly classified ?
(1) Al (2) (a)and (0
(8) Only (b) (4) Only (d)
(5) Question not attempted
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31.

32.

33.

34.
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T Hihe % TTEITS T 39 THR E :
99 (wfa =ven) : T 60

A T : 20 0

foram e Tw ;15 9w

FTER AT % FHA=arid Hieh hHt T HAT
(arestis) B :
(1) 900
(3) 1,050

(5) TIRA A

TS I NeET =AaH T 80 TS e 8

3fR 3% uvETq 2 15 Wi fpendter @ it

T gt W IS W@l B | TiEEd (dE)

AT 1 N R :

(1) Rrarm

(2) UiEdsie T

(3) Ig-uREdeier @rTa

(4) SR AT

(5) 3w SR

frefafiga § 9 fed ameft 6 s a1+

HAT TR ?

1) =¥

(2) gHe3 % HR I

(3) @Rl GvTeH § ATRETEl % SR
G|

(4) T (S W) i IS % B0 M

(5) TITRA A

3TET HYF I T

(1) Fo1 BR v Fa e # BR
CEikeoik SR

(2) $o UNGAHT ARG IETEA & dTY
TG 8 |

(38) wftr 3e T oI SeTeA B afg &
1Y TG 8 | |

(4) wft swg aieddg amma RR
WA R

(5) TgaRa wA

@) ¥1,125
(4) ¥ 1,200

| 34.

|

31.

32.

33.

The relevant data of a worker are
as below :

Time rate (per hour) : ¥ 60

Time allowed : 20 hours

Time taken : 15 hours

The total earnings under Halsey
plan of the worker will be :

(1) 900 (2 T1;126

3) 1,050 (4 1,200

(5) Question not attempted

A taxi provider charges minimum
T 80, thereafter ¥ 15 per kilometre
of distance travelled. The behaviour
of conveyance cost is :

(1) Fixed cost

(2) Variable cost

(3) Semi-variable cost

(4) Factory cost

(5) Question not attempted

Which of the following 1is

considered to be the normal loss of

material ?

(1) Pilferage

(2) Loss due to accidents

(3) Loss due to careless handling
of materials ‘

(4) Loss due to breaking the bulk

(5) Question not attempted

Identify the incorrect statement :

(1) Total fixed cost remains
constant in total output.

(2) Total variable cost increases
with output.

(8) Unit fixed cost increases with
rise in output.

(4) Unit variable cost remains
constant per unit.

(5) Question not attempted
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37.
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35.

36.

37.

38.

Bad debt is an example of

(1) Production overhead

(2) Administration overhead
(3) Selling overhead

(4) Distribution overhead
(6) Question not attempted

Which auditing standard deals
with the overall objectives of the
independent auditor ?

(1) SA 230 (2) SA 300

(3) SA 330 (4) SA 200

(6) Question not attempted

Can a Chartered Accountant (CA)
audit the accounts of a company in
which he holds share ?

(1) Yes, if the company grants
special permission.

(2) No, because it creates a
conflict of interest.

(8) Yes, if the number of shares
held is below 1%.

(4) No, unless the CA is a
government-appointed
auditor.

(5) Question not attempted

Taking into account of normal

working of the factory, overheads

are recovered on production @

T 3.50 per hour. The actual hours

worked during the month of March

2025 were 17600. Total factory

expenses incurred during this

month recorded at ¥ 50,400. The

situation is called

(1) Under absorption of
overheads by ¥ 11,200

(2) Over absorption of overheads
by T 12,100

(83) Under absorption of
overheads by ¥ 21,100

(4) Over absorption of overheads
by ¥ 11,200

(5) Question not attempted
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39.

40.

41.

“An agreement enforceable by law
is a contract.” This definition is
given under which Section of
Indian Contract Act, 1872 ?

(1) Section 10

(2) Section 23

(3) Section 2(h)

(4) Section 2(e)

(5) Question not attempted

“Attempted Performance” is also
knownas__

(1) Tender

(2) Remission

(3) Novation

(4) Rescission

(5) Question not attempted

Section 16 of the Indian Contract
Act, 1872 defines _____ .

(1) Undue influence

(2) Coercion

(8) Legality of object
(4) Contingent contract

(5) Question not attempted

Scope of Audit includes :

(1) Investigation

(2) Expertise in authentication of
documents.

(3) Expression of an opinion on
financial statements.

(4) Responsibility of preparation
and presentation of financial
statements.

(5) Question not attempted
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43.

44.

45.

46.

‘A’ buys a packet of chips on which
manufacturing date is missing.
This situation violates which right
of consumer ? .

(1) Right to be heard

(2) Right to be informed

(3) Right to choose

(4) Right to consumer education
(5) Question not attempted

Under which Section, Central
Consumer Protection Authority
(CCPA) is established by Central
Government ?

(1) Section 11.1

(2) Section 10.1

(8) Section 9.1

(4) Section 8.1

(5) Question not attempted

Which of the following statement is
incorrect ?

(1) Authority arises from scalar

chain. -

(2) Responsibility arises from
delegation of authority.

(3) Accountability arises from
responsibility.

(4) Authority cannot be
delegated.

(5) Question not attempted

Which one of the following is not

treated as ‘consumer’ in Consumer

Protection Act, 2019 ?

(1) Buyer of a good for use

(2) Availing services for a
consideration partly paid and
partly promised

(3) Buying/obtaining goods for
commercial purpose

(4) Obtaining goods through
multilevel marketing for use

(5) Question not attempted
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417.

48.

49.
i

C)

50.

Which one of the following is a
modern control technique ?

(1) Budgetary control

(2) Standard costing

(3) Financial ratio analysis

(4) Management audit

(5) Question not attempted

Induction and orientation

an

an

an

programmes provide information

about the

(1) Financial position of
organisation.

(2) Mission and vision of an
organisation.

(3) Profit objectives of
organisation.

(4) Social objectives of
organisation.

(5) Question not attempted

The ‘Forced Distribution Method of

Performance Appraisal’ relies on

the assumption that employees :

(1) Perform at the same level.

(2) Are ranked as more or less
efficient by interpersonal
comparison of overall
qualities.

Are distinguishable and their
number conforms to a normal
frequency distribution.

(4) Should be evaluated based on

individual goals only and
work distributed among peer
group.

(5) Question not attempted

Which plans often include their
mission and goals as they are the
basis for action steps ?

(1) Strategic plans

(2) Tactical plans

(3) Operational plans

(4) Initial plans

(5) Question not attempted
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51.

52.

53.

54.

55.

Which type of entrepreneur likes
innovation and enjoys working on
something new or creative ?

(1) Artistic (2) Advisor
(3) Improver (4) Idealist
(6) Question not attempted

Which of the following is not a key
element of entrepreneurship ?

(1) Invention

(2) Risk taking

(3) Innovation

(4) Organising skills

(5) Question not attempted

An employee who promotes

innovation among other employees
of an organisation is called as

(1) Entrepreneur

(2) Intrapreneur

(3) Imitative entrepreneur
(4) Fabian entrepreneur
(5) Question not attempted

When parties replace an existing
inferior contract with a new
superior contract, this results in
discharge of contracts by

(1) Impossibility of performance
(2) Lapse of time

(3) Operation of law

(4) Supervening impossibility
(5) Question not attempted

Which one of the following is
related with emotional capital of
Human Resource ?

(1) Learning capacity

(2) Sociability

(38) Skills and expertise

(4) Ambition and courage
(5) Question not attempted
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56.

57.

58.

A general rule that only parties to
a contract may sue or be sued on
that contract, is known as

(1) Doctrine of
consideration

privity  of

(2) Doctrine of privity of contract
(8) Doctrine of restitution
(4) Doctrine of necessity

(5) Question not attempted

Which of the following is not an

economic activity ?

(1) Agriculture

(2) Transportation

(3) Government income-
expenditure

(4) Services rendered by the
housewife

(5) Question not attempted

As per the World Bank, World
Development Indicators (2015) .
what was India’s per capita GNI at
market prices in 2014 ?

(1) 2000 Dollars
(2) 1980 Dollars
(3) 1600 Dollars

. (4) 1570 Dollars

(5) Question not attempted

A ‘Quasi-Contract’ is based upon

(1) An agreement

(2) Coercion

(8) Doctrine of unjust enrichment
(4) Doctrine of frustration

(5) Question not attempted
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60.

61.

62.

63.

As per the first advance estimates
released by the NSO, Ministry of
Statistics and Programme
Implementation, the real GDP
growth for the year 2024-25 is
estimated at

(1) 6.4% (2) 6.5%
3) 6.8% (4) 6.3%
(5) Question not attempted

Which of the following statements

is correct ?

(1) India
producing
world.

(2) India has not adopted deﬁc1t
financing.

is the largest mica
country in the

(3) India has not faced natural
calamities.

(4) Indian economy is at second
place in the world economy.

(5) Question not attempted

The concept of ‘vicious cycle of
poverty’ was given by :

(1) Prof. Samuelson

(2) Prof. Ragnar Nurkse
(3) Prof. Marshall

(4) Prof. Pigou

(5) Question not attempted

Mixed economy means
(1) Existence of private sector
(2) Existence of public sector

(3) Existence of
sector

co-operative

(4) Co-existence of public and
private sector

(5) Question not attempted
40
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64.

65.

66.

67.

Which of the following is not a key
characteristic =~ of the Indian
Economy ?

(1) Advanced level of technology
(2) Low standard of living

(3) Disguised unemployment

(4) Low agriculture productivity
(5) Question not attempted

Which. of the following is not

correct about the “Multi-

dimensional economic policy” ?

(1) Policies of various sectors of
the economy

(2) Alleviation of rural poverty
only

(3) Resources development

(4) Integrated approach to
development

(5) Question not attempted

Which of the following is not a
component of fiscal policy ?

(1) Public revenue

(2) Deficit financing

(3) Public debt management

(4) Repo rate

(5) Question not attempted

The trade deficit recorded by India
in March 2025 was :

(1) $21.54 billion

(2) $ 20.54 billion

(3) $ 19.50 billion

(4)  $ 18.20 billion

(5) Question not attempted

Which of the following economists
consider the per capita real income
as an indicator of economic
development ?
(1) Simon Kuznets
(2) Arthur Lewis
(8) dJacob Viner
(4) Frankel
(5) Question not attempted
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69.

70.

71.

Assertion (A) : Value added refers
to the difference between
value of output and purchase
of intermediate goods.

Reason (R) Value added

represents the contribution of

labour and capital to the
production process.

Both (A) and @) are

individually correct and (R) is

the correct explanation of (A).

Both (A) and (R) are individually

correct but (R) is not the correct

explanation of (A).

(A) is true but (R) is false.

(A) is false but (R) is true.

(6) Question not attempted

Which one of the
statement is incorrect ?
(1) Per capita income is an
indicator of the standard of
living of a country.

National income is a measure
of income earned by factors of
production.

Personal income is a measure
of actual current income
receipts of persons from all
sources, which may or may
not be earned from productive
activities during a given
period of time.’

Final goods refer to those
goods which are used for
resale.

Question not attempted

(1)
)

(3
(4)

following

@)

3

4

(®)

Which of the following are the top

5 export destinations in terms of

change in value in the year

2024-25 ?

(1) USA, UK, Japan, United
Arab Emirates and France

(2) USA, China, Japan, France
and UK

(3) China, France, Italy, USA
and Japan

(4) USA, Japan, Canada,

Australia and United Arab

Emirates

Question not attempted

®)
40
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72.

73.

74.

Export promotion is essential for
(1) Mobility of labour

(2) Reducing imports

(3) increasing unemployment
(4) meeting import obligations
(3) Question not attempted

“Economic welfare is that part of
social welfare that can be brought
directly or indirectly into relation
with the measuring rod of money.”
This is the statement of :

(1) Prof. Marshall

(2) Prof. Fisher

(3) Prof. Pigou

(4) Prof. Robertson

(5) Question not attempted

Match List-I with List-II and select
the correct answer by using the
codes given below :
List-I
(a) Proper use of
natural
resources
(b) Control and
regulation of
prices
(¢) Raise the
share of India
in world trade
(d) Technical
changes in
agriculture
sector
Codes:
(@ (b) (c) (d)
1 @ @) @) @)
2 @ @ Gav) (@)
(8) (i) @ G) @)
(4) @) @Gv) Gw) @
(5) Question not attempted

List-1I
(1) Agriculture
policy

(i) Natural
resource
policy

(iii) Exim
policy

(iv) Price policy
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75,

76.

77.

Management accounting deals
with data.

(1) Qualitative

(2) Quantitative

(8) Both qualitative & quantitative
(4) Non-Financial

(6) Question not attempted

A company’s manufacturing cost
was found to be higher. The
management accountant analysed
cost components and suggested
switching to a cheaper raw
material without compromising
quality.

What type of management
accounting function is being used
here ?

(1) Cost recording

(2) Communication

(3) Organising

(4) Decision-making

(6) Question not attempted

Given :

Raw material storage period
46 days

Work-in-progress period : 35 days
Finished goods storage period :
41 days

Debtors collection period : 45 days
Creditors payment period : 60 days
On the basis of above information,
the operating cycle period will be :
(1) 167days (2) 122days

(3) 227 days (4) 107 days

(5) Question not attempted

Which of the following is not a

recent trend of India’s foreign

trade during last five years ?

(1) Reducing current account
deficit

(2) Increasing value and volume
of foreign trade

(3) Increase in imports of crude
oil & petroleum

(4) Increasing trade deficit with
China

(5) Question not attempted

40




79. wH fafirs & ad 2025-26 & fau

80.

40

Frafafea sma= &

Pl YT = % 15,20,000
wf goaft gmgw sty 40 fe
AIR T TUEW ST 20 e
FYTRT AR 15 fe
TR Tt ey 25 e
A W A rafy 27 f&
TR RIharaTl o foTe srev™ 10 wfesra
¥ 2025-26 % fore wimmem =6 fafy @
@ ¥ 365 fe7 wra §0) Frifa oo
STETIHAT i ST T BN :

(1) % 4,33,400

(2) % 3,34,400

(3) % 3,43,400

(4) % 3,34,300

(5) 3T SR

femmmn g

FE AWM HIR® T 1,70,000
s-Fifaam s =% 65,000
i orer 1w % 2,16,000
ST SHER % 1,80,000
Hed = 11,000
e 9 S AT % 60,000
TS ATER % 1,25,000
THMAT A ¥ 32,000
a1firm yra wfiym % 10,000
(1) %6,91,000

(2) % 5,66,000

(3) % 5,55,000

(4) %5,35,000

(5) i SRA
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79.

80.

X Ltd. estimates the following data
for 2025-26 :

Total operating expenses - ¥ 15,20,000
Raw material storage period 40 days
Finished goods storage period 20 days

Conversion period 15 days
Debtors collection period 25 days
Creditors payment period 27 days

10%
Estimated amount of working

Provisions for contingencies

capital requirement for 2025-26 by
operating cycle method (assuming
365 days in a year) :

(1) ¥ 4,33,400

(2)~ ¥ 3,34,400

(3) ¥ 3,43,400

(4) % 3,34,300

(5) Question not attempted

Given :

Stock of raw materials ¥ 1,70,000
Stock of work-in-progress < 65,000
Stock of finished goods ¥ 2,16,000
Trade debtors % 1,80,000
Prepaid expenses T 11,000
Cash and bank balance ¥ 60,000
Trade creditors T 1,25,000
Outstanding salaries T 32,000
Commission received in

advance % 10,000
Amount of working capital will be :
(1) ¥6,91,000

(2) 5,66,000

(3) %5,55,000

(4) % 5,35,000

(6) Question not attempted



81.

82.

83.

ws ST & fou ynfdrs sfgats | 81. Initial outlay for a project is
@&f=m) T 4,10,000 2 | TR @i X n3,10,000. Frcf)_ni'l1 this annual cash
g Frte PreTER S in ows are as follows :

worm 1§ 2 1,60,000: First year ¥ 1,60,000;

frfa =8 7 1.20.000: Second year ¥ 1,20,000;

et B Third year ¥ 1,20,000; and
el =¥ T 1,20,000; 3R itk v 10000
=g 7 ¥ 40,000 i o will b

5 ayback period of the project will be :

: e @ awfl Eﬁf (1) 3year (2) 3% year
@ 3 2) 3% (3) 3% year (4) 4year
(3) 3% 4 4= (5) Question not attempted
(ﬁi)n Tﬂﬁm 82. Given:
™e: Investment Initial Net
fafeim omfdm g adEn Proposals Investment Present
e fafEm @R ®) Value (%)

® A 2,50,000 60,000

A 2,50,000 60,000 B 4,00,000 90,000
B 4,00,000 90,000 C 6,00,000 80,000
C  6,00,000 80,000 D 8,00,000  1,20,000
D 8,00,000 1’2%000 On the basis of Profitability Index
FTHSEHAT DT _(Pa;) AR W (PI), rank the above investment

H Is :
Sogw fafvam s RIRIEET) proposals :
@feRm) em iR : Ranks

wefiehar %9 (1) G § i i et '

L “I 1 IV () ~Ds¥B T E° A
(;)Rgg% @) .0A 5B C D"
&;CDBA @6 D B A
) A aBliDusC (4} A B Do O
(5) IrgaRa w (5) Question not attempted
Ife fpeft i (eTe) Y He 316 83. If the cut off rate (required rate of

|
|
(3fdE yeE @) Al T @ | |
ARF R, A e : |
(1) T HI EHR F T 8 | |
(2) TETE ! BRI HL Thd & | |
(3) W& H WHR A FEHR H |
THE | |
TH IR T @R | |
STINE S |

(4)
(5)
22

return) of a project is greater than
Internal Rate of Return (IRR), we
may :

(1)
(2)
(3)

Accept the proposal
Reject the proposal

Either accept or reject the
proposal

Be neutral about it
Question not attempted

(4)
®)

40




84.

85.

86.

87.

40

a-ufam @ 97 e ey # 53 feEr
AT 53 VWA 21N o FIT THTET R ?
Q) 217

Q) 47

3) b5/7

(4) 3/7

(6) TgARa A

v qte e o1 ol qt 4 @ eaﬁ $i
TRk o BT ?

(1) 4/32

(2) 4/5

(38) 5/32

(4) 6/32

(5) g s :
Prferfgn § & @ o Imi e
GRS GRTor Sorr <6t Aot § Tt @ ?
(1) Frafra H ST ;
Q) freafn Fi sEvashar
(8) AT it TSRl
(4) AT hl ATATIHAT
(6) ITEia I

s ufEeEr ft @Fa 2 1,50,000,

. aﬁﬁmqgwsoooo Sfieebret 5 @Y |

B9 9 L 3ad s 37 T 40,000,
+ H @ 30 Sfawa aun s Heft @
fafr @ e strar @ | Sfwa fafEm w
ST S T & Bt |
(1) 12.14%

() 12.44%

(3) 14.24%

(4) ST9ETE EHb

(5) ITgaRa ¥

84.

85.

86.

817.
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What is the chance that leap year
selected at random will contain
either 53 Sundays or 53 Mondays ?

1) 2/7
(2 4/7
3) b5/7
(4) 3/7
(5) Question not attempted

What is the probability of getting 4
heads when five coins are tossed ?

(1) 4/32

@) 4/5

(3) 5/32

(4) 6/32

(5) Question not attempted

Which of the following consumer
needs falls under the category of
‘Cognitive preservation motive’ ?

(1)
2)
(3)
4)
)
A project costs ¥ 1,50,000, scrap
value ¥ 30,000, life 5 years.
Average annual income before
depreciation and tax ¥ 40,000, tax
rate is 30% and depreciation is
charged on straight line basis. The

accounting rate of return based on
average investment will be

1) 12.14%

(2) 12.44%

3) 14.24%

(4) Insufficient data

(5) Question not éttempted

Need for consistency
Need for expression
Need for assertion
Need for autonomy
Question not attempted




88.

89.

90.

91.

THEE IR w999, feues a9 &
gftaTia fFar s 2 |

2 fen o fepea F w9 8
A wE) g s wa
wreeref - ferdiess w9 8
gfaswed wu

(1)
(2
3)
(4)
(5)

frfefga § ¥ frem Reifes fewiftew
Wher ! fereféra fopam 2

T T a—— T T—— T T —
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89.

90.

91.

88. While designing a questionnaire, a

dichotomous question is defined by

ey
(2)
3
(4
®)

Two given alternatives

Two correct options

Semantic differential
Multiple choice

Question not attempted

Who among the following has

developed ‘Semantic Differential
Scale’ ? :

(1) Rensis Likert

(2) Charles E. Osgood
(8) L.L. Thurstone

(4) Stanley Stevens
®)

Question not attempted

The advertising schedules having
periods of inactivity (total absence
in intervals) is known as

(1)
2
3)
4
®)
Who among the following

introduced ‘Nudge Theory’ in
behavioural decision theory ?

@
(2)
3)
(4)
(5)

continuous approach
pulsing approach
flighting approach
media class approach

Question not attempted

Sigmund Freud
Abraham Maslow
Richard Thaler
Martin Lindstrom

Question not attempted

40




92.

93.

94.

95.

40

99T IR FI-NOT
IR |

(1) EHTIR

(2) g

(3) afmepar

(4) wiasT

(5) 3raIRa A

fafafed & @ = @

gorgut a1 frgETes @
g 3R aferear 39
I9anT fRaT ST @ ?

(1) TomeHs MY

(2) WTETHS MY

(3) fafrwmy

(4) w==ft Y

(5) ITFTRG I

k=¥

T, TP
3R =EER
A F

Ei)

fafafga & @ ‘afger Savin gaisor |

T TSRl Teie % &9 ¥ foRE o S
27
(1
)
(3)
@
(5)

qrTTe- 3T fRufy

IBYH T

HIE T TIHT (AT HahTrow)
IfER & ge

K RIGREE]

form ypR 1 AR~ fage e
Y SATHR hH! Ired TRl wd Hit-Hift wh
@M (logo) FEIFBIATR ?

(1) wezH foma

(2) rfispa fommam

(3) ez afipa formmom

(4) wne fagma

(5) ITFTRG A
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92.

93.

94.

95.

An example of ‘Rational Product
Buying Motive’is .

1)
)
3)
(4)
()

Emulation

Safety

Individuality

Prestige

Question not attempted

Among the following, which
‘research’ is  exploratory or
diagnostic in nature and used to
understand behaviour and
generate hypothesis ?

(1)
(2)
(3)
(4)
(5)
Among the following, which is

considered as socialization agent in
‘model consumer socialization’ ?

(1
@
3
4
®)

Qualitative Research
Quantitative Research
Method Research
Cumulative Research

Question not attempted

Socio-economic status
Background factors
Learning mechanisms
Family members

Question not attempted

Which type of ‘newspaper

advertisement’ wusually contains

text, that too in small size, and

sometimes a logo ?

(1) Display advertisement

(2) Classified advertisement

(3) Display classified
advertisement

(4) Surrogate advertisement

(5) Question not attempted



96.

97.

98.

99.

Y§Y ] A FA<Mied
W SHdT 3R TR &+ fore sifepaq
SIEREI R A
(1) e FieET
2) frm wEE (FORe TEEE)
(3) el g
(4) @A famE
(5) TgaRa S
frafefaa & & v axg 6t @i+ T
Y YU HA AT TCH DR ?
(1) =g H B
(2) 3UHIRI Y A :
(3) 3TUTEH & HIYH! Sl =hiAd
(4) weiftra aggatt & Haa
(5) ITFARa A
% 500 3R T 1,000 i el 1 et
=Yg foran ma
(1) 20 fegm=r, 2014
(2) 8amR, 2016
(3) 20 foaww, 2016
(4) 5fe@=r, 2016
(5) 3rgaia S

forifera & @ = @1 “sTe famw’ w1 e
AT R ?

(1) I8 WTe-TTEeh! ! I & SR H I1e
femmar 2 |

Tt i forga s ST ThaT 2 |
Ig T & aft 9l & foe =
i HLT 2 |

I3 fagma & 3= "ol & foe @
I HMH HET2 |

K ERIIGR L]

)
3)

4

®)
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96.

97.

98.

| 99.
|
|
|
|
|
|
|
|
|
|

implies transparency of
management system and
maximising value for the

shareholders, customers, employees,
general public and the
government.

(1) Strategic planning

(2) Corporate governance

(3) Visionary leadership

(4) Organisation development

(5) Question not attempted

Which of the following is the least
important factor for determining
the demand for a commodity ?

(1) Price of the commodity

(2) Income of the consumer

(3) Price of factors of production
(4) Prices of related goods

(5) Question not attempted

Demonetisation of ¥ 500 and
T 1,000 notes were announced on

(1) 20tk Dec., 2014
(2) 8th Nov., 2016
(3) 20th Sept., 2016
(4) 5th Dec., 2016
(6))

Which of the following is not a
merit of ‘Outdoor advertising’ ?

(1) It reminds the
about the product.

Question not attempted

prospects

2

Messages can be made in
detail.

It makes a wide appeal to all
classes of society.

)
(4)

- It supplements other media of
advertising.

Question not attempted

®)
40
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101.
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40

Y =g <t | & E Jrel uiac e S
?:
1)
2)
3)

eI& A

Higa [

3 G
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100. Due to change in price of X

101.

102.

103.

commodity, the change in demand
for Y commodity is termed as :

(1) Direct demand

(2) Price demand

(3) Income demand

(4) Cross demand

(5) Question not attempted

Under+-which Article of the
Constitution of India, Central
government places annual
financial statement in  the

parliament ?

(1) Article 111 (2) Article 112
(3) Article 201 (4) Article 202
(6) Question not attempted

Fiscal deficit is

(1) the difference between total
expenditure and total receipts
(including debt capital
receipts).

the. difference between total
revenue and total expenditure.
the difference between total
expenditure and total receipts
(excluding debt capital
receipts).

the difference between
revenue expenditure and
revenue receipts.

Question not attempted

2
3

(4)

(5)

The law of demand indicates

(1) The relationship between the
price of the commodity and its
quantity demanded.

The relationship between the
income of consumer and its
quantity demanded.

The relationship between the
price of the substitute of a
commodity and its quantity
demanded.

The relationship between the
price of complimentary goods
of a commodity and its
quantity demanded.

Question not attempted

(@)

3)

(4)

®)



104.

105.

106.
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108.
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(4) o % Jurfre e U@ H
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(5) 3rguRa ¥
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104.

105.

106.

107.

108.

Who is the present Governor of
RBI as on 30tk April, 2025 ?

(1) Shaktikant Das

(2) Sanjay Malhotra

(3) Raghu Ram Rajan

(4) D. Subba Rao

(5) Question not attempted

Who was the chairman of Banking
Sector Reform Committee (1991) in
India ?

(1) C. Rangrajan

(2) Montek Singh Ahluwalia

(3) Manmohan Singh

(4) M. Narasimham

(5) Question not attempted

Which of the following is not the

objective of the fiscal policy ?

(1) Mobilisation of resources for
development

(2) To design taxation system

(3) To promote employment

(4) To control credit

(5) Question not attempted

Which of the following is not the

objective of monetary policy ?

(1) Stability in price level

(2) Stability of exchange rate

(3) Growth and employment

(4) Eradication of regional
disparities

(5) Question not attempted

Which of the following statements

is incorrect regarding banking

sector reforms ?

(1) Capital adequacy standard to
be maintained.

(2) Banking ombudsman should
be appointed.

(3) The cash reserve ratio was
reduced.

(4) The statutory liquidity ratio

~ of banks has been increased.
(5) Question not attempted
40




109.
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110.
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109. Which of the following statements

is not related to ‘Advance

Organizer Teaching Model’ ?

(1) It is based on principle of
progressive differentiation.

(2) It is based on principle of
integrated reconciliation.

(3) This model is taken from
verbal learning principle.

(4) It is also called as exploratory
model.

(6) Question not attempted

Which of the following is not a
feature of Inquiry Training Model
of Teaching ?

(1) This model is not used only in
science subject but can be
used in all subject areas.

(2) .It promotes strategies for
creative inquiry.

(8) It encourages heteronomous

learning.

(4) It transforms curriculum
content into problems to be
explored.

(5) Question not attempted

. When a teacher intends to display

the data that changes continuously
over periods of time, then which
type of graph will be used by him ?
(1) Bulletin graph

(2) Line graph

(3) Pie graph

(4) Pictorial graph

(5) Question not attempted

Which of the following is not an
example . of  synchronous
communication ?

(1) Phone call

(2) Video conferencing

(3) Video-blogs

(4) In-person meeting

(5) Question not attempted
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113. Which of the following are the uses

of ICT in teaching and learning

process ?

a. Development of reasoning
and thinking ability of
learner.

b. Instructional material
development.

c. Psychological analysis of
learner.

d. Diagnostic testing and
remedial teaching.

Choose the correct code :

(1) Onlya,bandd

(2) Onlya,bandc

(3) Onlya,candd

(4) a,b,candd

(6) Question not attempted

114. An interactive software design that

provides alternative path for

navigation and attempts to address
different learning style of the
learners is called

¢y
)
@3)
4
(5)

Linear design
Branching design
Mathetics design
Rule system design

Question not attempted

115. The first stage of think-pair-share

strategy of co-operative learning

allows the students to

(1) share ideas with the class.

(2) reflect individually on a
question.

(3) talk to paired student.

(4) begin group work
immediately.

(5) Question not attempted
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Which of the following is not a
paradigm for computer assisted
learning, advocated by Stephen
Kemmis ?

(1)
2
(3)
4)
(5) Question not attempted

In which mode of computer
assisted learning, the computer
serves as a laboratory or a field
situation, and it enables students
to perform difficult experiments ?

The instructional paradigm
The complementary paradigm
The revelatory paradigm

The conjectural paradigm

(1) Tutorial

(2) Drill and Practice

(3) Simulation

(4) Informational Instruction

(5) Question not attempted

In applying system approach to
instructional design, a teacher
identifies that students are
consistently underperforming in a
particular unit despite using

digital tools and standard plan.
What should be the teacher’s next
step using this approach ?

(1) Introduce new technology, to
increase students engagement.

Replace the current unit
entirely with video based
modules.

Increase the duration of the
class for more teaching time.
Reanalyze the input, process
and feedback mechanisms to
identify  inefficiencies  of
system level.

Question not attempted

@

3)
4

®)
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120.

121.

The pairs of  ‘Book-source
document’ are given below. Which
one of the following is not correctly
matched ?

(1) Purchase Book - Purchase
invoice received from
suppliers.

Sales Book — Sales invoice
issued to customers.
Purchase Returns Book
Debit-note received from the
suppliers.

Sales Returns Book — Credit-
note issued to the customers.
Question not attempted

(2)
3)

(4)
(5)

What is the principal book of
account in the double-entry book
keeping system ?

(1) Journal

(2) Ledger

(3) Cash Book

(4) Trial Balance

(5) Question not attempted

Outstanding wages is a
(1)
(2)
(3)
(4)
(5)

Sweat equity shares can be issued
(1) By passing special resolution
in ordinary meeting of the
company.

By passing ordinary
resolution in ordinary
meeting of the company.

By passing special resolution
in special meeting.

By passing ordinary
resolution in extraordinary
meeting.

Question not attempted

Personal Account
Impersonal Account
Real Account

Nominal Account
Question not attempted

2

3)
(4)

(5)
40
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124.

125.
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(1) % 5,000 ¥ (S 7E wule &

EEFEIAAAIICE |

(2) S YPTaH 2 5,000, T & § BIS

fem |
(3) = Wit T 5,000 & ¥R &t fema
™ | :
(4) Toshar g &1 9 T 5,000 % €I
W T 500 AT SGTHT I |
(5) I I
wieR @lier € 5,000, sF9 @rar A for@n
T % 500 | 319fE gur <t wiafy gnft
(1) ARG M % 5,000
FEA A Z 5,000
(2) WA @ M T 4,500
I @ M % 500
ERRCIGKS| Z 5,000
(8) AR @@l ™ % 5,000
ERRCIGE:] Z 500
K& CIRCIG RS % 4,500
(4) IEAT @ ™ ¥ 4,500
ERECIGI ™ % 500
AR @A % 5,000
(5) TR T :
ﬁ'ﬂTgCﬂT% s
01.04.2024 = ey
ST ST SIS TR Z 70,000
ST IT
31.03.2025 & % 13,00,000
¥ 2024-25 § HA
aT9NeR =T S Srafafed
FEE % 1,00,000

FOie W | oEfey wmuil ¥ fg
5 Sfersrd STTESH T 8 | ATH-811 @ra o

ST 6t Tl A foreht st

(1) 65,000 (2)
(3) 60,000 (4)

(5) guRa T

% 90,000
¥ 95,000

|
|
|
|
|
|
|
|
|
!
|
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123.

124.

(1)
@)

3)

4

®)

125.

A trial balance will not agree if
(1) An asset purchased of ¥ 5,000,
treated as an expense.
(2) Salary paid T 5,000,
completely omitted.
(8) Interest received T 5,000,
posted twice.
(4): Total of sales book carry
forwarded ¥ 500, instead of
% 5,000.
(5) Question not attempted
Furniture purchased for ¥ 5,000
was posted to Purchase Account as
T 500. Rectifying entry will be :
Furniture Account Dr. % 5,000
To Purchase Account ¥ 5,000
Furniture Account Dr. T 4,500
Suspense Account Dr. T 500
To Purchase Account . ¥ 5,000
Furniture Aceount Dr. ¥ 5,000
To Purchase Account % 500
To Suspense Account T 4,500
Suspense Account Dr. 34,500
Purchase Account Dr. ¥ 500
To Furniture Account % 5,000
Question not attempted

Given :

Provision for

doubtful debts as on

1st April, 2024 % 70,000
Trade receivable on

31st March, 2025 T 13,00,000
Total Bad debts

during 2024-25 to be

written off % 1,00,000
Create a provision for doubtful
debts equal to 5% of the trade
receivables. The amount of
provision to be debited in Profit &
Loss Account will be : :
(1) % 65,000 (2) 90,000

(8) 60,000 (4 95,000

(5) Question not attempted
: O
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127.

128.

129,

130.
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®)

126.

127,

128.

129.

130.

At the time of admission of a new
partner, General Reserve is
distributed among the partners in
the

(1) Sacrifice ratio

(2) Gain ratio

(3) Old profit sharing ratio

(4) New profit sharing ratio

(6) Question not attempted

Which of the following is the
advantage of computerized
accounting system ?

(1) Accuracy

(2) Updation of information

(3) Timely reporting

(4) All of these

(5) Question not attempted

The creation of a provision follows
which accounting principle ?

(1)
(2)
(3)
4)
(5)

Depreciation is the process of

(1) Allocation of costs

(2) Valuation of assets

(3) Replacement of cost

(4) Revaluation of assets

(5) Question not attempted

Sacrificing ratio is

(1) New profit sharing ratio — old
profit sharing ratio

(2) Old profit sharing ratio X

3)

New profit sharing ratio
Equal to old profit sharing
(4)
(5)

Going concern

Accrual

Prudence or conservatism
Matching

Question not attempted

ratio

Old profit sharing ratio — New
profit sharing ratio

Question not attempted

40




131.

132.

133.

40

ﬁiﬂ TTEIT% .

3ftaa & = 2 17,34,000
$ gutedl = € 1,35,00,000
1@ e = ¥ 83,00,000
[T T = 12%
arftremt % gofientor faftr & erem @nfa
T T BT :

(1) % 9,50,000

(2) %92,50,000

(3) ¥61,50,000

(4) % 1,44,50,000

(5) ITad ¥

X 3 Y @Eier & 5w ot o s
7 : 39 fopan ST o1 | W F 3/7 WA
T ATEER Z %1 aw fen S |
IR T T o fowe Iguma @@
B 7
(1)
(2)
(3)

14:6:15
5 it T
37
(4) "165:6:14

(5) ITIIRA TR

F.48. . 3 25% Hiftem | 2 10 I
Fmi w1 i v o wE @
% 15,00,000 qeI i HufEl ARmlRd
mE) | T gfawe w1 TR 1 %
foru .4t 1. gro ot o St e At
=) gEa Bt

(1) 1,50,000 3

(2 1,20,000 3

(3) 1,87,500 3

(4) 1,35,000 3T

(5) IrFTRA A
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131.

=)

132.

133.

Given :

Average profit =3 17,34,000
Total assets =T 1,35,00,000
Outside liabilities = ¥ 83,00,000
Normal rate of return = 12%

The wvalue of goodwill under

capitalization of super profits
method will be :

¥ 9,50,000

¥ 92,50,000

¥ 61,50,000

¥ 1,44,50,000

Question not attempted

@)
3)
4
®)

X and Y were the partners sharing
profits in the ratio of 7 : 3. Z was
admitted for 3/7th share in the
profits.

What will be the new  profit
sharing ratio of the partners ?

(1) 14:6:1b

(2.8 T

(3): T80

(4) 15:6:14

(5) Question not attempted

KC Ltd. acquired assets worth
T 15,00,000 from Priya Stores, by
issue of shares of ¥ 10 at a
premium of 25%. The number of
shares to be issued by KC Ltd. to
settle the purchase consideration
will be :

(1) 1,50,000 shares

(2) 1,20,000 shares

(3) 1,87,500 shares

(4) 1,35,000 shares

(5) Question not attempted
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135.

136.

137.
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134.

135.

136.

137.

3)

Which item is not disclosed in the
company’s balance sheet ?

(1) Capital Reserve

(2) Reserve Capital

(3) Paid-up Capital

(4) Securities Premium

(56) Question not attempted

Preference shares amounting to
T 4,00,000 are redeemed at a
premium of 5%, by issue of shares
amounting to ¥ 2,00,000 at a
premium of 10%. The amount
transferred to capital redemption
reserve will be :

(1) T2,10,000 (2) < 2,00,000
(3) ¥1,80,000 (4) < 4,00,000
(5) Question not attempted

Under Section 3 of the Companies

Act 2013, the minimum number of

members required to form a public

company :

(1)  Two or more than two persons

(2) Three or more than three
persons :

(3) Seven or more than seven
persons

(4) Eleven and more than eleven
persons

(5) Question not attempted

Z limited had allotted 15000 equity

shares to the applicants of 21000

shares on pro-rata basis. The amount

payable on application was ¥ 3 per

share. Mr. N applied for 630 shares.

The number of shares allotted and

the amount carried forward for

adjustment against allotment money

due from him will be :

(1) 180 shares; ¥ 1,350

(2) 360 shares; ¥ 810

420 shares; ¥ 630

450 shares; T 540
Question not attempted

4)
®)
40
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138. According to Section 7 of the

139.

140.

I 141.
|
|
|
|
|
I
|
|
|
|

Indian Partnership Act, 1932, in
which kind of partnership, ‘no
provision is made as to the
determination of the partnership’ ?
(1) General partnership

(2) Particular partnership

(3) Partnership at will

(4) Partnership at fixed period

(5) Question not attempted

A partner whose association with
the firm is unknown to the general
public is called

(1) Secret partner

(2) Active partner

(3) Nominal partner

(4) Sleeping partner

(5) Question not attempted

Which one of the following is not a

basic principle of Frederick W.

Taylor’s philosophy ?

(1) The development of a true
science of management

(2) The scientific education and
development of the worker

(3) Intimate, friendly co-operation

between management and

labour

(4) Random selection of workers

(5) Question not attempted

Which one of the

statement is correct ?

(1) The liability of owners is
limited in sole proprietorship.

(2) In joint Hindu family

business, only ‘Karta’ has

unlimited liability.

The liability of owners in

partnership is limited.

In joint stock company

liability of owners is

unlimited.

Question not attempted

following

3
4

(G))
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142. Match correct pair of nature of
management and their features :
Nature of Features
Management
(i) Management (a) Personalized
as Science application
(1)) Management (b) Universal
as an Art validity
(111)) Management (c) Ethical code
as a profession of conduct
(1) (i) (i)
(L) a) ) =i(c)
2 ) (@ (©
3 @© ® @
4) (© (@ (®)
(5) Question not attempted
143. Henry Fayol (1841-1925) was a/an

______management theorist.
(1) English (2) Dutch
(3) Arabic (4) French

(6) Question not attempted

144.

14

®)

Which of the following depositories

are promoted by Bombay Stock

Exchange and Bank of India ?

(1) National Securities Depositories
Limited (NSDL)

(2) Central Depositories Services

Limited (CDSL)

NSDL & CDSL both

(4) Neither NSDL nor CDSL

(5) Question not attempted

5. Which of the following model of
principles of management assumes
‘management does the thinking and
the employees obey the orders’ ?

(1) The supportive model

(2) The autocratic model

(8) The custodial model

(4) The collegial model

Question not attempted

3)
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149.

150.
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146.

147.

148.

149.

150.

@

Which market facilitates the
conduct of monetary policy of an
economy ?

(1) Money market

(2) Capital market

(8) Stock exchange

(4) Share market

(5) Question not attempted

Which one of the following is not a
method of raising capital in
‘primary capital market’ ?

(1) By Right Issue

(2) By Initial Public Offer

(3) By Bonus Issue

(4) By Offer to Public

(6) Question not attempted

Which brand development strategy
involves introducing a new product
under an existing brand name ?

(1) Brand Extension

(2) Line Extension

(3) Brand development

(4) Multi-brands

(5) Question not attempted

Which one of the following is not

an essential step regarding

marketing concept of customer

orientation ?

(1) Determination of actual needs

(2) Determination of target
groups

(3) Emphasis on consumer research

Emphasis on ecological balance

(6) Question not attempted

In the context of ‘secondary capital
market’, which of the following is a
correct statement ?

(1) Prices of securities are
determined by demand and
supply.

(2) Prices of securities are
determined by the

management of companies.
Securities are sold by the
companies to the investors
directly or through an
intermediary.

3

(4) Only buying of securities
takes place.

(5) Question not attempted
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